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B.A.(Part-III) Examination, 2015

ECONOMICS

Second Paper

(Economics of Growth and Development)

Time Allowed: Three Hours ] [ Maximum Marks : 50

Note : Answer five questions in all. Question No.1

is compulsory. Attempt one question

from each Unit. Marks are indicated against

each question.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb. 1 DeefveJeeÙe& nw~

ØelÙeskeâ FkeâeF& mes Skeâ ØeMve keâerefpeS~ ØelÙeskeâ ØeMve kesâ Debkeâ

Gmekesâ meeceves eqveefo&° nQ~

1. Explain briefly the following: 2×10=20

efvecveefueefKele keâer mebef#ehle JÙeeKÙee keâerefpeS:

(i) Economic growth and economic devel-

opment.

DeeefLe&keâ mebJe=efæ leLee DeeefLe&keâ efJekeâeme

(ii) HPI 1 and HPI 2

HPI 1 leLee HPI 2
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7. Distinguish between absolute and relative pov-

erty. How can relative poverty be measured?

7½

efvejhes#e leLee meehes#e iejeryeer ceW Devlej keâerefpeS~ meehes#e iejeryeer

keâes kewâmes ceehee pee mekeâlee nw?

Unit - IV / FkeâeF& - IV

8. Critically evaluate the achievements and fail-

ures of economic planning in India. 7½

Yeejle kesâ DeeefLe&keâ efveÙeespeve keâer meheâueleeDeeW Je DemeheâueleeDeeW

keâer DeeueesÛeveelcekeâ JÙeeKÙee keâerefpeS~

9. Evaluate the role of foreign trade in the eco-

nomic development of an economy. 7½

efkeâmeer DeLe&JÙeJemLee kesâ DeeefLe&keâ efJekeâeme ceW efJeosMeer JÙeeheej keâer

Yetefcekeâe keâe hejer#eCe keâerefpeS~

(4)



(iii) Economic Dualism

DeeefLe&keâ ÉwleJeeo

(iv) Low level Equilibrium Trap

efvecve mlejerÙe mevlegueve peeue

(v) Define G, Gw and Gn.

G, Gw leLee Gn keâer heefjYee<ee

(vi) Cumulative causation.

mebÛeÙeerkeâejkeâ Øeef›eâÙee

(vii) Objectives of WTO

 WTO kesâ GösMÙe

(viii) South-South Cooperation.

oef#eCe-oef#eCe menÙeesie

(ix) Planning by Inducement.

Øeeslmeenve Éeje efveÙeespeve

(x) Objectives of Indian Planning.

YeejleerÙe efveÙeespeve kesâ GösMÙe~

Unit - I / FkeâeF& - I

2. Distinguish between developing and emerging

market economies. Describe the basic char-

acteristics of a developing economy. 7½

efJekeâemeMeerue SJeb GoerÙeceeve yeepeej DeLe&JÙeJemLeeDeeW ceW Devlej

yeleeFÙes~ efJekeâemeMeerue DeLe&JÙeJemLee keâer cegKÙe efJeMes<eleeDeeW keâe

JeCe&ve keâerefpeS~
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3. Explain the main obstacles to economic de-

velopment in a developing economy. How can

these obstacles be removed? 7½

Skeâ efJekeâemeMeerue DeLe&JÙeJemLee kesâ DeeefLe&keâ efJekeâeme ceW Deeves

Jeeueer cegKÙe yeeOeeDeeW keâer JÙeeKÙee keâerefpeS~ Fve yeeOeeDeeW keâes

kewâmes otj efkeâÙee pee mekeâlee nw?

Unit - II / FkeâeF& - II

4. Explain Lewis model of unlimited supplies of

labour in the context of economic develop-

ment of underdeveloped countries. 7½

DeuheefJekeâefmele osMeeW kesâ DeeefLe&keâ efJekeâeme kesâ mevoYe& ceW uetFme kesâ

ßece keâer Demeerefcele hetefle& Øeefleceeve keâe hejer#eCe keâerefpeS~

5. Examine Rosentein Rodans' theory of 'Big-

Push' and discuss its relevance for developing

economies. 7½

jes]pesvšerve jesoeB kesâ ‘Øeyeue-ØeÙeeme’ efmeæevle keâe hejer#eCe keâerefpeS~

efJekeâemeMeerue osMeeW kesâ efueS Fmekeâer GheÙegòeâlee keâer JÙeeKÙee keâerefpeS~

Unit - III / FkeâeF& - III

6. What do you understand by Human develop-

ment? In this context explain Human Devel-

opment Index-HDI. 7½

ceeveJe efJekeâeme mes Deehe keäÙee mecePeles nQ? Fme mevoYe& ceW ceeveJe

efJekeâeme metÛekeâebkeâ (HDI) keâes mecePeeFS~

(2) (3)


